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1 #include <ioStresm:
2 #include "MyLik.h"™

3

4 ysing namespace std; |

S

6 int maini) J

T

g cout =< |isEveni4) << endl; ./ ] 10 Z0 3

= | =F 5 d1: T T T T T T T T T N O I A A
sout <<|isEven(s) << endl:J 1 bool isEven(int number) .

10 2 {4

11 return O; 3 return i(number % 2 == 0); |

12 y 4 431

13 irFrAw s Irar]
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- Qo|o| BEX} #include <cstdlib>

rand() % 10 BEsturns a random integsr
- T L .—h. e
between 0 and 2.

- - REeturns a random integsr
50 + rand £ 50 S
- () betwesen 50 and 99,

FEeturns a random number between

a + d = b .
rand () a2 and a + b, excluding a + b.




#include. <cstdlib>
using namespace std;

// Generate a random character between chl and ch2
char getRandomCharacter(char chl, char ch2)
{
return static_cast<char>(chl + std:rand() % (ch2 - chl + 1));

}

// Generate a random lowercase letter
char getRandomLowerCaseLetter()

{

return getRandomCharacter('a’, 'z');

}

// Generate a random uppercase letter
char getRandomUpperCaseLetter()

{

return getRandomCharacter('A’, 'Z");

}

// Generate a random digit character
char getRandomDigitCharacter()

{

return getRandomCharacter('0', '9");

}

// Generate a random character
char getRandomCharacter()

{
return getRandomCharacter(0, 127);

}




vold methodl ()

— for =

[
o
Ih

The scop 1 i

]

(]
']
i
e
i

The scop




It 1s fine to declare

i

O in TwWOC
non—nesting blocks
wvoid functionl ()
{
int x = 1;
int v = 1;
“for (int i = 1; 1 < 10; 1++)
{
L x 4= i;
for (int i = 1; 1 < 10; 1i++)
{
vy += i;
}

It i1s 1ll=sgal to
declare i in two nesting blocks

void functiconz ()

{
B int 1 = 1;
int =sum = O;
for (int i = 1:; 1 < 10; 1++)
sum += 1;
<< 1 << endl;
| << sum << endl;
1




- JéII_-II Xlgdl |__/IE

#include <cstdlib>
#include <iostream>

using namespace std;
void t1(); // function prototype
int main(int argc, char *argv(])

{
t10);

t1();

system("PAUSE");
return EXIT_SUCCESS;

}
void t1()
{
static int x = 1;
inty =1,
X+ +;
? y++;

<< x << endl;
<<y <<end]

v cout << "xis'
cout << "y s’
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Function

Description

absi(x)

ceil (x)

floor{x)

XD (X)
powix, )
logix)
logld{x)
3gro (x)

ainix)

Cos(X)

tan(x)

fmod (x,

vl

Returns the absolute wvalue of the argument
¥ is rounded up to its nearsst integer and

returns this integer

¥ is rounded down to its nearest integer and

returns this integer

Returns the sxponsntial function of x

Returns a raised to power b (xX')

Returns the natural logarithm of x

Returns the base-10 logarithm of X

Returns the sguare root of x

Returns the sine of x. X represents an angle
in radians

REeturns the cosine of x. X represents an

angle in radians

RBeturns the tangsnt of x. x represents an
angle in radians

BEeturns the remainder of x/v as double

Example

abs(-2) is 2
ceil(2.1l)y is 3
ceili{-2.1)y is -2
floor{2.1l) is 2
flocri-2.1) is -3
exp(l) is 2.7182
pow(2.0, 3) is B8
log(2.71828) i=a 1.0
loglO{lo.0) is 1

zgrT (4.0} is 2
2in{3.1415% f 2) i=s 1
2in({3.1415%) is 0
cos(3.1415% F 2) is 0
cos(3.1215%) 1s -1
tan(3.1£15% / 4) i= 1
tan(0.0)y iz 0O
fmodi{z.4, 1.3) is 1.1
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printCalendar
(main)

Y

readInput

Y

e,

printMonth

\ J

printMonthTitle

Y

L 4

printMonthBody

Y

getMonthName

getStartDay

Y

getTotalNumO1fDays

|ﬁ v

getNumOfDaysInMonth

Y

1sLeapYear




